More bar diagram problems:				name:					

1.  The ratio of the number of John's stamps to the number of Peter's stamps is 5:8. Peter has 18 more stamps than John. If Peter gives 22 stamps to John, what will be the new ratio of the number of John's stamps to Peter's? 






2.  The ratio of men to the number of women in a factory is 3:8. There are 120 more women than men. If the number of men increases by 3 and the number of women decreases by 12, what will be the new ratio of the number of men to the number of women? 






3.  Peter spent 1/3 of his money on a toy car and 2/3 of the remainder on a toy boat.  He had $6 left.  How much money did he spend altogether?






4.  Mary had some cookies.  She gave 2/9 of them to Matthew and ate 1/3 of them.  She had 8 cookies left.  How many did she have at first?






5.  Alice has 50% of the amount of money Betty has, and Carrie has 2/5 of what Alice has.  If Betty has $364 more than Carrie, how much money does Alice have?
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